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Instructions :-
1.

@mmm;mrm%ﬁwaﬁﬁﬁ%ﬁﬁa
gl | "1x 10 = 10 3%

Question No. 1 is.of Multiple Choice fype.
Each question carries 1 mark, :

6x1 =~"6.Marks

- Answer any two from (@), (b), (¢), (d) of

Question No. 2. Each

question carries
4 marks.

‘ 2 x 4 = 8 Marks
Answcr any two from (a), (b), (c), (d) of
Question, No., 3. Each qu

estion carrics
4 marks.

- 2x4 =8 Marks
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. Answer any two from (a), (b), (¢), (d) of

Question No. 4.7 Bach question  carries

6 marks. 2 x 6 =12 Marks

. Answer any two from (a), (b), (c), (d) of

Question No. 5. Each question carries
8 marks. 2 x 8 = 16 Marks
Answer any one from (a) and (b) of
Question No. 6. Allotted marks for this
question is 10. 1 x 10 = 10 Marks

. Answer any one from (a) and (b) of

Question No. 7. Allotted marks for this
question is 10. 1 x 10 = 10 Marks
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i) I, + 1, —— 2HI
iij CH,COOCH, +H,0 —

. CH,COOH + CH,OH
iii)  PCly + Cl,—PClg

- iv) 2FeCl, +SnCl, ——>

)

: i) CH,

F)

X666

2FeCl, +SnCl,
ifeies ot ® P,0, F WY T B
R 79 | -ar gifies s dar € 2
i) CH,CHO
i) (CH 3C0L0 iv) _CH,COCH, .
CH, -

CH:,—é—NH2 frm 4 @ [
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1. Four alternatives arc given in each part

of

this question. Select the correct

alternative and write it in your answer-
book :

a

b)

i) - 18 iy

XH-666

Na crystallizes in the form of body
centered cubic ( bee ) structure. The
‘number of Na atoms 1r1 its unit cells
would be .

i 2 i) 4

myj 9 Sy} 14,

In 1 molal aqueous solution, the

mole fraction of solute is

__iil"-l_' ) 18

0018

-_-Whlch Gf the follomng reactmns 1s

_;.:'. S
: -'l T‘#.J_ i

_ pseudo unlmﬂiecular ?

i) H, +1, —-——>2HI

i) CH, COOCH +H,0 -

R CH COOH+CI—I OH
iiij PCl, +‘01_'?_;1.301-5
iv) 2FeCl;+SnCk, —

2F eC] +3nCl,
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On heating acetic acid with PEOE,

which of the following compounds is
obtained ?

i) CH, iij CH,CHO

iii) (CH,CO0),0 iv) CH,COCH,.
CH,4 |

CH;T(%”NHE comes in which of the
CH,

following groups ?

i)  Primary amine

ii) Secondary amine.

iiij Tertiary amine

iv] None of these.

Which of the following

carbohydrates works in the form of
reserve glucose in the body ?

i) Starch  ii) Fructose

iii) Glycogen 1v) Sucrose.

feeeR wotsh ST S (foc) SO H
heelidd BT &1 39 §T=T 8§ fasess
fgeer waget @t g 287 pm € A
faee =1 o se e faeer W
GO S 107-87 g mol ! @9l
Nﬂ:()'O{zXlO?JmD[ 1 %” - .
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B) AR 122 W FEF EAEE T 22 T ¢) Calculate the e.m.f of a cell™in .
sl el B dl A ud e which the following reaction takes
ST F g ufawE # T blace :

i | , Ni(s)+2Ag*(0-002M) -

T W I F emd W OREE FiEg ., Ni**(0-160M) - 2Ag(s)
foredt Frrfefias s gieft @ - Given that EO =1-05V.
Ni(s)+2Ag*(0-002M)-> , | d) Write a short note on Tyndall effect.

' Ni2* 3. %) Freafefes § e & ferdg 4T 2
(O- 160M)+2Ag(s) : '
i) SHmE ffae dgem aw v
ﬁmmn% E%,=1.05V. . N ﬁﬁgmm B
. | i) Fﬂza SiTeTer Ud Teheh hig i |
) ﬁvsamwwaﬁmﬁwﬁfﬁ@zl . ® ) w%maﬁﬁmﬁm
2. a) Silver:crystallizes in face centered ﬁwm% IR
* cubic ( fee) structure. If the distance i) e NG ﬁ'ﬁﬁ % 2 WW F
between the nearest silver atoms in " g T fefem)
this structure is 287 pm, find the Rl Qm G} ﬁ?ﬂﬁ %ﬂ%’ T Y W
density of silver. Atomic mass of quélﬁ% ? US-US TRV Wied gwa |
A _ . 9)  UEH § deRe o
silver is "107-87 g mol™' and ) T W T T TR S ?-
S IEXVT Wied FHE |
N,=6:02x10""mo 3. a) How will you differentiate between

b) If 22 gram -benzene is dissolved in the following »

122 gram carbon tetrachloride, 1)  Hexagonal close packmg and
calculate the mass percentage of . cubic close packing structure
Lenzene and carbon tetrachlornde. 1) Crystal lattice and unit cell.

1-G66 [Furn over '
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i)  What is obtaincd on the

) L 3.
reaction between Cu”’ion
and ammonia ?

i) What are noble* gases ? le_itf:ﬁ

_ the names of noble gases.

What do you ‘understand ° by=
unidentate and bidentate llgands ’3’
Explain giving one example ‘eadh.
What do you understand by pep’ude
bonds in protein ? Explam w:lth
Examplf: https /1 wma upboardonlme com
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on the changes - in
| molar conductivity
m. The conductivity

Enmmcnt
conductivity anc
with concentra o

Cof 000241 M acetic acid s

7-806 x 10 5a cm . Calculate its

molar conductivity. '
Differentiate - between physical
adsorption and chemical adsorption
with example.

Write short notes on the following :

i)° Carbylamine reaction

ii) Diazotization reaction.

What are carbohydrates ? Explam
by giving - example. How s
glucosazone obtained from glucose ?

faere @) ot ST | A TR %
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- ERES Hichost #1 § 2 oUARE

HHFA F wrv 4 qom w Seeld
HifeTu | |
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JETENM g |

fratehiad 3ugedarT Akl % JUPAC
1 fafey

1) _[CD[NHE}SCI]CIE

i) K,[Fe(CN)]

i) [Ni(NH,).]Cl,

Define solution. How many types of
solutions are possible ? Write in

short about each type of solution

giving one example for each. =

i)  Describe the factors affecting
the rate of a chemical reaction.2

ii) . Starting with 1 mole of a
compound, it was found that in
one hour, the reaction is three-
fourth complete. Calculate the
rate constant if the reaction
follows first order.

What is Lanthanide contraction ?
JDiscuss the causes and
CONSEeqUEnCces of Lanthanide
contraction.
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What is coordination number ? Give
one ¢xample.

Write the IUPAC names of the
following coordination compounds :

i) [Co(NH,);Cl|Cl,

i)  K,[Fe(CN),]
iii) [Ni(NH,)]CL,
ﬁ?&wmﬁaﬁﬁqlwﬁ:w“ lCarETR G
SREIRE ‘I“'?ﬂﬁ@aﬁﬁm SO, % a1
37 fetfi |

_312131' :
15 % @ F GEE e )y, 39

fereraT #H“Trlm
Fifetin @ ol ffay .
i) e s
i) leer- HIGH - Hfyfonayy _ Ulidter i
Ulehoflegiguy |
i) ey Gd9eimuy |
BRLCH
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Describe the laboratory method for
the preparation of sulphur dioxide.
Write its oxidizing and reducing
property. Write two uses of SO,.

OR - S

Comment on the general properties,
clectronic  configuration, atomic
size, ionization enthalpy and
electronegativity of - group 15
elements.  https://www.upboardonline.com
Write notes on the following :

i)  Kolbe reaction

ii) -Friedel-Crafts reaction —

Alkylation of anisole

.iil))  Williamson synthesis.

OR
What is Lucas test ? It is used for
the identification of which type of
compounds ? Wnte with example
and chemical equations.

fpifefiaa wivmae =t Qi i

) CHCH,CHCI, KL KOH,

CH.OH
i) (CHy )‘.,CCHQBr——‘&——>
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iii) @(4‘ SOCl,—

Br 'HQO
QP —

Mg Br-

AYET '
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R !
ij) SR ﬁ ﬁ Wﬁﬁﬁ
i) 1R F peFRA
iv) SRR ¥ 1R 4-2f ai
v) FoRE-E § e 2
= w dfee feoroht fefaa -
i) TRIHE-HIE sfafmar
ii) UEES GO
iii) FAAN] 31?’-1%54”
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i) oofew v ot wREe ¥

g sffan e ¥ 2

iil) S It s @ arfufmar
A& ?

iv) wEITaEE 3T % WY FERRT

IR R ERar 2 L

v) WSh T W AR Al
SR 2.

Complete the following reactions :

) CH,CH,cHCl, XOH,

CszOH
) (CH3)3CCH Br—x—> A
OH . el
i.ii). + SOCl, o ACHECQ
. Fiia ¢
N ST
iv) +M —ry-—b
33 Ether

. OR
How will the following conversions.

be obtained ( Give chemical
equations only ) ? '

i) Bromoethane from ethane
ii) Biphenyl from chlorobenzene

[ Turn over
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i) n-octance from 1-chlorobutane
iv]  1-chloro 4-methyl benzene from
chlorobezene
v)  Phenol from chlorobenzene.
Write short notes on the following :
i)  Gatterman-Koch reaction
ii) Aldol condensation
i) Cannizzaro’s reaction.
OR
What happens when — ~ :
i) Acetic aeid reacts with ethyl
alcohol ? o
i) Acetic acid reacts with thionyl
chloride ? ,
iii) Benzoic acid reacts with
ammonia ?
iv) Carboxylic acid reacts with
~ phosphorius pentachloride ?
v) Benzoic acid'is nitrated ?




